P =
A H BT — B E
R T5 ik a4 B AL
IR Y TSI AR MR
fh Bk i 3 B R E42 5 gL g g L B G ATITA 1385205
T R A AN
w g RBITBRBEATANGR 5 A A% S R SIS PAfL w7 6% 4A17H 13305
A AL P RN E
¥ B % T RBETT AEOh N AT A RBTR T R
J& AT ) M|AF0 64 47 18R DL A1 T 3AB31H FT | 2 A RBHME HT
R @ 4,015, 000 1 g g 3 D ERTFILRENA2T AI03E M
T OE M A% 4,647,500 1 ( 4,225,000 [4) " WhT 7 o A (BR) RS
LR eIE, MLEFICEH SN2 USFD1005 DI0IHY T2 A ME L7288 CTh V 8 Lo AFLEE Th 5,
‘ # 1 W # 2 W N
* A % NELE & NENL & M f
(KR BREAFEE ¥ — FEIR
(BR) BREEFLABIIERT I B35 rEIR
HWIRT 7= - =2 () 4 5, 000, 000
(¥F) BBty ¥ — R ER 6 5, 400, 000
(=) IR EARELERE Y5 — 2 4, 400, 000 ]
(k) AcpEsR Rt 2r JE0T 2 4, 400, 000 ]
AN I 15 & o 1 3, 650, 000 AL
TXE R (KK AEEIIE 4 5, 000, 000
(B) E— « =« L B LT rEIR
1 o FA A F v AFHFENESIES  —K
o4 % & % & B W TRBH T LS NGRS B 40 B HCEE L0 . R T D H R 27 978 L 0 @E L7z,
e o= ®» K8 # H




